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	Augusto earned $50 last month mowing lawns. Peiyi earned $40 less than twice as much as Augusto. How much did Peiyi earn?








	Jeanna has a 3-year-old brother and a 
5-year-old brother. Jeanna is four years older than the sum of the ages of her brothers. How old is Jeanna?







	Jeanna’s father is 7 years younger than 9 times the age of her older brother. How old is Jeanna’s father?







	To find the age of Jeanna’s grandmother, begin with 100 and subtract the product of the ages of Jeanna’s brothers. How old is Jeanna’s grandmother?


	Tao has 48 baseball cards. His friend, Kian, has 93 baseball cards. Lakeo has 14 less than the total that Tao and Kian have. How many baseball cards does Lakeo have?







	David says, “I have 3 more than five times as many baseball cards as Tao.” How many baseball cards does David have in his collection?


	Writing Numerical Expressions—KEY

	Augusto earned $50 last month mowing lawns. Peiyi earned $40 less than twice as much as Augusto. How much did Peiyi earn?

(2 × 50) – 40 or
                        2 × 50 – 40





	Jeanna has a 3-year-old brother and a 
5-year-old brother. Jeanna is four years older than the sum of the ages of her brothers. How old is Jeanna?

4 + (5 + 3)  or
(5 + 3) + 4 or
5 + 3 + 4






	Jeanna’s father is 7 years younger than 9 times the age of her older brother.  How old is Jeanna’s father?

(9 × 5) – 7 or
(5 × 9) – 7 or
9 × 5 – 7
                         





	To find the age of Jeanna’s grandmother, begin with 100 and subtract the product of the ages of Jeanna’s brothers. How old is Jeanna’s grandmother?


100 – (3 × 5) or 
100 – 3 × 5

	Tao has 48 baseball cards. His friend, Kian, has 93 baseball cards. Lakeo has 14 less than the total that Tao and Kian have. How many baseball cards does Lakeo have?

(48 + 93) – 14 or
48 + 93 – 14


	David says, “I have 3 more than five times as many baseball cards as Tao.” How many baseball cards does David have in his collection?

(5 × 48) + 3 or 
5 × 48 + 3 or 
3 + 5 × 48



